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• 「試験問題を解く」ことを通した知能の解明 
• 世界史、日本史、国語、英語などの社会系科目では 
   「言葉の理解」が必要 

• 試験勉強＝言葉を理解して知識を得る 
• 試験を解く＝問題文を理解し、知識を適用して答えを導く 
• 「言葉の理解」とはどういうことなのか？ 

これまでの研究成果 

試験問題を解く＝言葉を理解し、知識を適用すること 

どんな研究？ 言葉の理解と知識の適用 

知識源 

理解 

適用 

兵制や兵士について述べた文として最も適当なものを，次のうちから
一つ選べ。 
 ① イェニチェリは，オスマン帝国の常備軍であった。 
 ② ポエニ戦争後，重装歩兵として従軍した農民層は経済的に豊か 
    になった。 

東地中海の強国―オスマン帝国 
 ．．． イェニチェリ軍団は，軍楽隊，工兵隊，大砲隊，鉄砲隊などをそ

なえた皇帝直属の常備軍で，のちにヨーロッパで発展する近代的陸軍
の先がけであった。 

2009年度センター試験世界史B 

東京書籍 平成19年度 世界史B 

2009年度東京大学前期試験 日本史 

7・8世紀の遣隋使・遣唐使は，東アジア情勢の変化に対応してその性格
も変わった。その果たした役割や意義を説明しなさい。 

7世紀前半にはじまった遣唐使は，…その目的のなかには，｢日本｣という
国号を唐に示し，認めさせることも含まれていたと考えられる。 
この後，遣唐使は8世紀には6回，9世紀には2回派遣され，この間多くの

留学生・留学僧が唐に渡り，先進的な制度・文化を学び，律令国家の発
展に寄与した。 

ローマ共和政 
 ．．．重装歩兵として活躍した農民層の没落は，都市国家としての
ローマの軍事力と共和政の基盤をゆるがすものであった。 

知識を問う問題 

含意関係認識 
• ２つの文章が「同じ意味かどうか」 
 を認識する言語処理技術 
• 「文章を読んで知識を得る」しくみ 
結果（詳しくは来週開催の NTCIR で） 
• 国内外から17チームが参加 
• センター試験を題材としたタスクでは 
 NII チームがトップ 

文章の理解 
The white-haired old man was sitting in his favorite chair. When his 
nineteen-year-old granddaughter, Valerie, came into the room, he looked 
up and smiled. … “Are you finished packing your bags yet?” he asked. The 
following morning Valerie and two of her friends were flying to Europe for 
a two-week holiday. “Almost. I need to travel light, you see, so I can buy 
lots of new dresses and shoes in Paris and Barcelona.” They both laughed 
because Valerie was not actually interested in fashion at all. … 

試験問題 
Wikipedia 

2009年度センター試験世界史B 

現在の言語処理技術で解けそうな問題（少ない） 
漢字書き取り、発音・アクセント問題、… 

出題意図にそった知識の要約 ― 「出題意図」「要約」とは？ 

東京書籍 平成19年度 日本史B 

要約？ 

「教科書を覚えること」ではなく、「教科書に 
書いてあることと同じか」の判断が難しい 

－「文章を理解する」とは？ 

システム名 正答率 
NII-03 57.41 
NII-01 57.41 
NII-02 55.56 
WasedaU-01 52.78 
WasedaU-03 52.78 
NEC-02 51.85 
WasedaU-02 51.85 
NagoyaU-02 49.07 
NEC-01 49.07 
NEC-03 47.22 
KyushuIT-03 45.37 
KyotoU-02 43.52 
NagoyaU-03 42.59 
JAIST-03 42.59 
JAIST-02 41.67 
JAIST-01 40.74 
KyushuIT-02 39.81 

システム名 正答率 
IBM-03 38.89 
IBM-01 38.89 
IBM-02 38.89 
KyushuIT-01 36.11 
NTTData-02 34.26 
NTTData-03 34.26 
Baseline-01 32.41 
NTTData-01 31.48 
JadavpurU-01 30.56 
NagoyaU-01 29.63 
TohokuUKDDI-03 28.70 
TohokuUKDDI-01 26.85 
TohokuUKDDI-02 26.85 
TohokuU-01 26.85 
KyotoU-03 21.30 
KyotoU-01 20.37 

Q. Why did Valerie and Grandpa laugh? 
1. Valerie had not finished her preparation. 
2. They both knew that what Valerie said was not true. 

2009年度センター試験 英語 

含意関係認識システムの開発 

国際学会 CLEF 2013 で評価タスク QA4MRE を開催 

NTCIR RITE: みんなで含意関係認識に取り組む 

自然言語文 

係り受け木 

DCS木 

代数形式 

推論エンジン 
アブダクション 

アラインメント 

言語リソース 

分類器 

構文解析 

意味アノテーション 

Yes or No 

T: 重装歩兵として活躍した農民層の没落は，… 
H: 重装歩兵として従軍した農民層は経済的に豊かになった。 

歩兵として活躍した  歩兵として従軍した 

没落  経済的に豊か 

アブダクション アラインメント 

言語リソース（高被覆・低精度 
e.g. ウェブデータ）の適用 判断！ ？ 



シミュレーション結果の解釈	
  
(発生した事象の特定)	


Table 2: Examples of Transformation rule

Predicate Modelica code
fixpoint(x) Modelica.Mechanics.MultiBody.Parts.Fixed x;
spring(x) ∧ cnst spring(x, cnst) Spring x(c=cnst);
connect(x, y, ei) connect(x, y);

in question will be used for validation as described
in Section 3.3.

In order to execute the simulation, it is neces-
sary to assign a certain real value to each physical
quantity that is expressed as variables in a question
while actual values are in fact not needed to solve
the question. In case that the assigned value is not
valid, physical events described in the question do
not happen. For example, in the question in Figure
2, if the weight of the mass is too big, it might not
move when released from the hand.

One of the solution against this problem is to
validate the result of simulation in a similar way
described Section 3.3. That is, if physical phe-
nomena described in a the question are not found
in the result of simulation, the system judges the
assigned values are invalid and executes simula-
tion again with other values.

3.3 Validation of Simulation Results
To answer a question, the system identify the
physical phenomena that the question asks from
a simulation result.

In logical form of a question, the parameters
in the question is existentially-quantified. We
focus on the predicate that contain the param-
eter. For example, in the logical form of the
question in Figure 2 (Figure 4), x is the param-
eter to be asked and the predicate that contain
x is “distance(a, ep2(s), x, e3)”. This predicate
means that x is distance between the mass a and
the end of the spring s at e3”. As a value of the
distance is stored in simulation result, we could
extract the value of x if we could identify the time
e3.

For identification of time, we focus on physics
events that occur at same moment. In the example,
an event that occur at e3 is “stop(a, e3)”. This
predicate means that a stops at e3.

A result of simulation is a time-series data of
physical quantities. Therefore, we define seman-
tics of physical events as conditions in terms of
changes of physical quantities. For example, an
event “stop” is true when a velocity of the tar-

get object is zero at the time and the velocity is
more than zero right before. Thus, the meaning of
“stop” could be formalized as follows:

stop(obj, ei) ::= obj.velocity(ei) == 0

∧obj.velocity(ei−1) > 0

where obj.velocity(ei) shows the velocity of an
object obj at time ei. If there is ei that satisfies
this condition, the physical event is true.

The result of a simulation for the question in
Figure 2 is shown in Table 3. Initial parameters
needed to execute the simulation are set manu-
ally2．

Table 3: A simulation result
Time x Velocity of a

...
...

...
10.786 1.27535595 0.00088038
10.788 1.27535751 0.00068438
10.790 1.27535868 0.00048838
10.792 1.27535946 0.00029238
10.794 1.27535985 0.00009638
10.796 1.27535990 0.00000000
10.798 1.27535990 0.00000000

...
...

...

As described above, the question asks the value
of parameter x at e3 and the event that happened at
e3 is stop(a, e3). The time e3 satisfying the con-
ditions of stop(a, e3) is t = 10.796 and the sys-
tem could determine the distance at this time is
1.27535990.

We construct a predicate dictionary for words
occurred in past five tests of university entrance
examination manually. A part of the dictionary is
shown in Table 4.

In answering the question, the value obtained
from the simulation is compared with the value
obtained by assigning parameter values to the for-
mula of each choice. The value for each choice is
shown as follows:

The choice which is closest to the simulation
result is 3© and we can successfully determine the
correct answer.

2m = 1, k = 1, d = 0.5, µ′ = 0.01, g = 9.8

試験問題	


意味表現	


解答	


言語理解	


分野に特化した
推論・演繹処理	


自然言語＋
画像	


問題に書かれて
いることを解釈	


構文解析	


述語項構造解析	


物理シミュレータによる状況の予測	


知識	
  
(辞書，教科書……)	
  

画像理解	


フレームワーク	
  

問題に応じて
出力を解釈	


数式処理	


計算機が処
理できる形式	


数式処理命令	
  
への変換	
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  a2/イ +	
  b	
  =	
  b	
  +	
  a2/8));	
  	


And(ア =	
  4,	
  イ =	
  8)	


構文・意味解析	
 数学用語	
  
辞書	
  

高校数学知識	
  
（例:	
  線が点を	
  

　　「通る」とは？）	
  

自然な文で書かれた問題を理解することで，物
理シミュレーションや数式処理など，分野特有の
解法アルゴリズムが利用できるようになる．その
具体的な処理の方法に関して，物理，数学の問
題を例にして検討する．	
  

数学，物理の問題の特徴	
研究の概要	


•  特有の専門知識が必要	
  
•  いわゆる常識はそれほど必要ではない	
  
•  演繹や予測に必要な全ての内容を、問題か

ら正確に読みとる必要がある	
  

物理現象のモデル化と予測	
  
• 問題中の物体とその位置関係のモデル化	
  
• シミュレーションによる予測	
  

物理問題へのアプローチ	


「ロボットは東大に入れるか？」	
  

コンピュータが数学・物理の問題を解く	
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数学問題へのアプローチ	


数学的内容の読みとりと演繹	
  
• 問題文の言語理解	
  
• 数式処理システムへの命令に変換	
  

(2009年度大学入試センター試験追試験 物理Ⅰより引用)	


述語	
 説明	


floor(x)	
 xは床である	


mass(x)	
 xは物体である	


spring(x)	
 xはバネである	


weight(x,	
  m)	
   xの質量はmである	


distance(x,	
  y,	
  d,	
  ei)	
 時点eiにおけるxとy間の距
離はdである	


connect(x,	
  y,	
  ei)	
 時点eiでxとyは接続されて
いる	


release(x,	
  y,	
  ei)	
 時点eiでyがxを離す	


stop(x,	
  ei)	
 時点eiでxが止まる	


move(x,	
  ei)	
 時点eiでxが動く	


……	
 ……	


構文	
 述語	
 意味記述	


objが回転する	
 revolve(obj,ei)	
 obj.angular_velocity(ei)>0	

objが静止する	
 stop(obj,	
  ei)	
 obj.velocity(ei)=0	
  ∧	
  obj.velocity(ei-­‐1)>0	

objが水平になる	
 horizontal(obj,	
  ei)	
 ep1(obj).pos_y(ei)=ep2(obj).pos_y(ei)	
  (*	
  ep1,ep2はobjの端を意味する)	


obj1がobj2と接触する	
 touch(obj1,obj2,	
  ei)	
 obj1.pos(ei)=obj2.pos(ei)	
  ∧	
  obj1.pos(ei-­‐1)!=obj2.pos(ei-­‐1)	

objが落ちる	
 fall(obj,	
  ei)	
 obj.pos_y(ei)<obj.pos_y(ei-­‐1)	

objが着地する	
 land(obj,	
  ei)	
 obj.pos_y(ei)=0	
  ∧	
  obj.pos_y(ei-­‐1)>0	

……	
 ……	
 ……	


“物体が止まった”のはど
の時点？	


x=1.2754	
  
①	
 1.775510	


②	
 3.051020	


③	
 1.275510	


④	
 2.551020	


⑤	
 0.196000	


⑥	
 0.098000	


選択肢に代入した
結果と比較	


文間の論理関係の解析	
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